-ms

L HEAVY DUTY .
TRUCK / . ;

.R ACCESSORIES b/ INSTALLINSTRUCTIONS
2019 - 20 DODGE 2500 2265P

4 -5/8 X4 1/2 G8 Bolts : 10 - 1/4 X 3/4 Bolts

4 - 5/8 G8 Nuts 10 - 174 Nuts

4 - 5/8 G8 Lock Washers 10 - 1/4 Lock Nuts

4 - 5/8 G8 Fiat Washers 10 - 1/4 Flat Washers

NOTE: IF CAMERA IS PRESENT REMOVE THE CENTER HALF PANEL.

STEP 1 - Disconnect light and sensor plug if any.

STEP 2 - Remove tow hooks.

STEP 3 - Remove factory bumper.

STEP 4 - Remove lights and sensors from factory bumper if any and place them on the
replacement bumper. NOTE: Remove lights from housing and put them on the
replacement light brcket.

STEP 5 - Put replacement bumper in place and put tow hook back in place. Bolt the
replacement with 4 - factory bolts and 4 - 5/8 x 4 1/2 G8 Boilts.

STEP 6 - Check alignment on the replacement and tighten bolts.

STEP 7 - You may need to penodaca!ly retlghten bolts e —




